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Part— A _— -
GENERAL INTELLIGENCE & REASONING

“Directions (Q. Nos. 1 to 6) ¢ Select the 10. (A) MIGE. (B) XTQO
rfi:lated word/letter/mumbers from the given = 4 - (C) RNKI (D) HDAY
alternatives. - 2 ! % )
‘1 Embarrassed: Humiliated:: 5 | " (&) 33.9 B .53
' Frightened : 7 | ‘- LA =k :
_(A) Temified . (B) Agitated 12. (A) Year2012 (B) Year1998
(C) Courageous (D) Reckless (C) Year2005 (D) Year1997
. = . “a A 13.  Which one of the given responses
2 Macabre.[nvely..BapefuI.? i 3 “be a meaningful order of the i
(A) Unharmful (B) ‘Churlish . 1 Aot a
: ' rption 2.
(C) Filter (D) Ugly 3. Nutrition 4.
3. AYRRIC:CATTLE::NCPDCAR:? | A 3,1,2,4  (B) 2,13,
"(A) SUBJECT (B) NEGLECT € 3421 (D 3214
(C) PERFECT (D) OPERATE 14.  Arrange the follo

4. SOCIAL : OCIALS : : DRIVEN : ?

(A) VENRID  (B) NEVIRD
(C) RIVEND (D). VIREND
1. % FE 1 5

S 3647169 :

- (A)128 (B) 126

s a0y 4 (D) 132

6. 29471 7927 s
(A) 120 (B)
(©) 197 (D)

Directions : In Question No
the ‘odd - word/letters/number
given alternatives.
7. (A) - Square
{C) Cylindey

8 (A) Yacht
©

9. (A
(B

19,

18

6.

Question Nos. 15 to 18, a

ith one term missing.
orrect alternative from the
at will complete the series.

DNW, FOU, 2

GPS

(B)
c) HPS (D) HPT
‘DHK, GKN,JNQ, 2
(A) MRU (B) MQT
(C) LPS (D) NRU

1,525,125, ¥ . % . 7.
(A) 245,485,965
(B) 225,325,425
(C) 625,3225, 15605
(D) 625,3125,15625

0, 7 ,8,27,064,125
(A) 5 B) 4
{€) . % Dy 1
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In a class composed of x girls and y boys
what part of the class is composed of
girls ? _

(A) yx+y) (B) wixy

(C) xlx+y) (D) iy

If a number is gréater than 5-but less
than 9 and greater than 7 but less
than 11, the number is :

@as ®»e6 ©7 O

In a row, 25 trees are planted at equal
distance from each other. The -
distance between 1™ and 25" tree is
30 m. What is the distance between
39 and 15" tree ?

{A) 8m (B) 15m(C) 16m(D)18m
Directions : In Question Nas. 22 & 23
fromi the given alternative words, select the
word which cannot be formed using the

19.

20.

2.

28. If = stands for addition, *+" stands
for subtraction, ‘2" gtands for-
multiplication and ‘x* stands far
division, then which one of the
follotwing equation is correct ?
(A) 50%5+2-30+25=25
(B) 50=30+5+2x30=25
. (C) - 40+35%2-50+30=95

(D) 30x2-25+50+5=100

29, Which of the following inter
- signs would make the equati
3x6+21=22
(A) +.%x.2and6 (B)
(C) +.x,6and8 (D) +
Directions : In Question Nos. 30 an

some equations are s
certain system. Find
for the unsolved equ

on the *sis of
ectanswer

letters of the given word : ALt 2xa R
22. STIMULATION ®) 15
(A) STATION  (B) NATION s
(C) MOTION (D) MOUTH " i
23. INSTITUTIONALISE : She kB
(A) NUTRITION tB) INTUTION . :
(C) TUITION (D) INSULATION (B) 09 (C) 08 (D)07
24, Which letter in the word ‘Vertex’ = In Ql.‘efgmﬂ Nes. 32 o 34 find ) 5
should be changed to mean spiral : g_numlge: from the given responses. i
movement ? % 7 168
@A)y 1 @ 2" (©) (D) Last ;(2).; gg o
B b TNALEREE (A) 52 (B) 144 (C) 64 (D) 38
33 2. &8 = s
6 9 7
2 36
26 , then how 84 216 900
ggg‘-‘ (A) 9% (B 70 (©) 65 (D) 10
32546 4. 2 3 4 2
2. e, TRIPLE is written 314 2
How is DISPOSE 4 2 2 6
ode ? ) 5 2 2
RD (B) DSOESPI 196 121 144 225
F (D) ESOPSID A4 Bs ©@6e D3
SPACE FOR ROUGH WORK
i
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35, Anand travels 10 kms from his home Directions : In Question Nos. 39 and 40,

to the east to reach his school. Then 1 among four answer figures whose cut
he travels 5-kms to the south to reach pi€ces can form the given question figure ?
his father’s shollJ(, atter school. He 39, Question figure : ;
then travels 10 kms to the west to —7 ;
help his uncle. How far and in which - (5'@ ;
direction is.he from his home ? ; 4 :
(A) 10 kms North (B) 5 kms South
(C) S5kmsEast (D) 10kms West | . Answer figures:
36. Four villages A, B, Cand D lieina = O~
straight line. D is 10 kms from B. A : OC)QQ“(\
is exactly between D and C and C from - ; vl =0 WO
B is 2 kms more than it is from D. (A)  (B) ()
How far is Ceftom B ?

(A) 4kms (B) 6kms 40.  Question figure :
(C) 8kms (D) 2kms B
37.  Select the altemative inference which : b
is most appropriate.
“All professors are learned; learned ANSWE

people are always gentle.”
- Inference : All professors are gentle persons.
{A) The inference is true. . :
(B) The inference is false.
(C) The inference is probably true
or-probably false.
(D) The inference is irrelevant.

38.  Statement is given followed by two
inferences 1 and Il. You have to
consider the statement to be true
even if it seems tc be at variance
+ from - commonly known fa
have to decide which o
inferences, if any, fol
given statement.
Statement : “Eleciric s
Colony will be
O’clock for
Fepaiting wol

b AC

of the llowing answer figures
ur when the question f?gura
is rotated ? :

given

from Answer figures

G7ER

A B  © (D

Inferences - Directions : In Question Nos. 42 and 43,

Colony electrical - which of the following Venn diagrams best

appli OMOTTOW. - represents the relation between given classes ?

I olony need 42,  Humans, Birds, Animals i

t lectricity economically. :

( ce | follows. (A} (B) |

( fme 1 fo?ows.

(C) erences follow. y O |
the inferences follows. ©) ©) GDO

SPACE FOR ROUGH WORK
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43. Fruits, Apples, Oranges

(A) @ o (B)
(©), CD o (Do

44, In the diagram given below which
letter(s) represents the students who
play Cricket as well as Football and

Hockey ?
‘ Hockey
T 1o R
S| T
Footbal] ¥ . o
Cricket
(A) S+T+U (B) V
(C) S (D) P+R+U

Directions : In Question Nos. 45 and 46,
which answer " figure will complete the
pattern in the question figure ?

45. Question figure :

n

T

Answer figures :

e o5

A B (©

Question figures

© )]

47. From'the given answer figures, select

the one in which the question figure
is hidden/embedded.
Question figure :

X

Answer figures:

COIRN

A @)

48. A piece of paper is folded and cut

From the giv
indicate how_i

&)
(B) ((i*) (D)

If a mirror is placed on the line MN,
then which of the answer figures is
the right image of the given figure ?
Question figuie :

mie
MfjE)
N
Answer figures :

! [ m
o Aillo o _4lle |
(A) (Y (©) (D)

TC-2614

_ 954046793%. 9

9540720818 peB0gasees - |
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50, A word is represented by only one set of Directions- : In Question Nos. 42 to 44,

numbers as given in any one of the find the odd word/letters/number from the
alternatives. The sets of numbers given given alternatives.

in‘the alternatives are represented by two 42. (Anz ‘Microscope (B) Telescope
classes of alphabets as in two- matrices (C) " Periscope (D) Stethoscope
given below. The columns and rows of 43, (A) ONONLD (B) RESOMY
Matrix | are numbered from 0 to 4 and 2 (C) NOARDP (D} DRASM!

to 6 respectively and that of Matrix Il are 44. (A) 82 (B) 65. (C) 26 (D) 15

numbered from 2 to 6 and 7 to O
respectively. A letter from these matrices
can be represented first by its row and
next by its column, e.g. ‘H’ can be
represented by 04, 25, 32, etc., and ‘N’
can be represented by 21, 40, 39, etc. -
Similarly, you have to identify the set for

45.  Which one of the given resp

the word given below : 46.
YEAR

Matrix — 1 Matrix -0l |
- 1213]415]6 718(911]0 :
O A HIM ] [Z[E[R[VIN[O e e BLLON,
TIM JTHALY] [3]VIN[OJE|R (B NITLNOC
STAIY|J | H|M [4[O[EIR[V|IN uﬁ NLITONC
STH[T{YIMA| |5 RIV[N|O[E] B it 22
a7 M A[Y[H] [6INOLEIR[V i,

(A) 23,27, 15,01

> ‘%(),’ stands  for

ction, which one of the
wing equation is correct ?

)y 25%5@10/1-10075=100

(B) 25/5-50@30*2=75

C) 25-6/10@ L @100*5=139 e

(D) 25/100*5/10@1-6=29

Direetions : In Question Nos. 4% and 50, some 3
letters are given with numbers from 1 o9 016. L
Select  the sequence of numbers which .
arranges the letlers into a meaningful word.
49, N NDINI1T A

1 2 34 567788

(B) 10,38, 15,30
(C) 34.31,32,28
(D) 45,50,36,29

For Visually Handicapped C

Directions : In Questio
select the related words/lel
the given alternative:
39, Binding:
(A) Crix

(A{ 215764389
B) 312546798
a2 E C) 421357689
RUZG D% 42135765
O} RVZC .5 DENER 1
g . D £ N S ‘
(B) 4 A 451,236 (B) 3,2.1,6,5.4
(D) 60 C) 6,42.351(D) 1,25463. |
SPACE FOR ROUGH WORK |
TUL P o $T§:T
g42ia, MNes? Ar.::_ra\g:—ﬁ =.SX$N;, f
g Aris Banw
Ma?:hp;?ze{;\‘agm, Dfa::r'«'j;ggg;
(9540487959 00 0a3448
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51. Wimh of ‘the fnllowmg, relations 57.  Who said, “Adolf Hitler is Germany
always holds trie ? and Germany is Adolf Hitler. He
(A) Income = Consumption + who vpledges himself to Hitler
Investment ; ) pledges himself to Germany™ ?
(B) lncome = Consumption + Saving (A) R.Hess
(C) Saving = Investment (B) Mussolini
(D) Income = Consumption + (C) Hitler
Saving + Investment (D) Communist lutematmn
53, The Keynesian consumption function :
shows a relation between 58. Who speaks of Cabinet
(A) aggregate consumption and “the steering wheel of th
total population. - State” ?
(B) aggregate consumption and (A) Lowell (B) Muir
aeneral price level. & (C) Marriot Bagehot
(C) aggregate consumption  and
aggregate income. 59. . Who has calk,d Minister
(D) aggregate consumption  and pmnus i:' among
interest rate. ’
53.  Over short period, when income rises, Harcourt
average propensity to consume usually AD) Lowell ;tt‘ %
(A) rises’ ¢ ] devoid of - ¢
1565 politics devoid of g ¢
(B) falls £
(C) remains constant 8‘.’: :
(D) fluctuates andhi 1_-%
54, Average propensity to LOIISI.HHC is inoba Bhave Q& s
djﬁnei as’ _ Jaya Piakash Narayan - - i bt - AR
7 COns : . gz
{(A) Té,t}zlrlcgslt}i laﬁgmumbt in \.\-hich Rock- Edict .Ashok’a. zg; ﬁ L 3
(B) Aggregate incom mentions about the casualities of S¢ )
consumprion Kalinga War and declares the - |"§ gg-;;;g
(C) Change in renunciation of war 7 ’ g0 E: 7
Change ind (A) Maski Edict “
= (B) Rock Edict XIII
~ {C) Rock Edict XI g j ==
33 - (D) Rock Edict X
62.  Akbar held his religious discussion in
(lg) Jodhabai’s Palace '
produce as long as (B} Panch Mahal i e
its variable costs. (C) Ibadat Khana
fits product. (D) Buland Darwaza
: 3 '““"S’?g campalsh 63.  Who succeeded Gury Nanak ?
1 one of the following is the (A) Guru Angad
¢ feature of the single member (B} Guru Ramdas
uency sysiem ? o (C) Guru Arjan
The system is economical for (D} Guru Hargobind
representatives. i s .
(B)  Gerrymandering is not possible 64, lpe Earliest  Settlements of Aryan
in this system. wibes were at
: 1 (O O (A} Uttar Pradesh
() It secures 2 stable majorily 16 !
the legislatuse, (B) Bengal
(D) The candidate has to spend less (C) é&ﬂpt{} Sindhu
on clectioneering. (DI Delhi
CC-2014 iz 000 NH 1
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66.

67.

69.

T,

71.

~{A) Permian (B

Who betrayed Siraj-ud-Daula in the
Battle of Plassey in 17577

(A) Hyder Ali

(B) MirQasim

(C) Mir Jaffar

(D) Nawab of Oudh

‘Kelp’ is )

(A} Sulphide mineral of iron

(B) Partially decomposed vegetation
(C) Sea weed rich in iodine content
(D} An aluminium silicate mineral

Spot the odd item in the following :
(A) Basalt (B) Ruby
(C) Emerald (D) Sapphire

What is farming along with animal
hushandry called 7 '
(A) Mixed farming

(B) Mixed agriculture

(C) Dairy farming

(D) Truck farming

Hydraulic Action is a type of erosion
caused by

(A) Runningwater

(B) Wind )

(C) Glacier :

(D) None of these

Which of the following is
geological era?

(C) Cretaceous

{A) herb
{B) shrub

graph was invented by
S.N. Bose
) P.C.Roy
(C) J.C. Bose
(D) P.C. Mahalanobis

74. Foramen Magnum is an aperture
found in the i
(A) Ear (B} Lung
{C) Girdle (D) Skull

CC-2014

i4
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76.

7.

78.

80,

81.

82.

_(A) XML

Name the branch of Zoology that

deals with the scientific study of
- animal behaviour.

(A) Ecology (B)
(C) Ethology (D) Anatomy

‘Barr body’ is found in
(A) Sperm '
(B) Sertoli cells

(C) Female somatic cells
(D) Male somatic cells

The colours of stars depend on t
(A) ftemperature -
(B) distance ‘

“(C) radius

D) atmos sure

reaches us in

(B) 2 min.
(D) 4 min.

locate submerged submarines.

(C) detect and locate distant objects.
(D) locate geostationary satellites.

Optical fibre works on the principle
of

(A) refraction

(B) scattering

(C) interference

(D) total internal reflection

Which application in  Microsoft
Office is feasible for preparing
presentations ?

(A) Microsoft Excel

(B) Microsoft Word

{(C) Microsoft PowerPoint

(D) Microsoft Publishers

The language which was used to

build Internet Pages in the beginning
of Internet Technology is 7
(B) HTML

(D) ASP

' 006 NH 1

(C) -DHTML

Physiology

receive signal from radio receivers.
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83.

84.

8s.

§6.

87.

“88.

8s.

91,

CC-2014

The alkaloid naturally found in 9.
coffeg, cocoa and cola nut is )

(A) Cocaine (B) Morphine’

(C) Tannin (D) Caffeine

The metal used for making aircrafts .
and rockets is , 93.
(A) Lead (B) Aluminium

(C) Nickel (D) Copper

The process of improving the quality

of rubber by heating it with sulphur

is called ' 04
(A) Vulcanization '
(B) Acceleration

(C) Sulphonation

(D) Galvanization

Which source has been particularly

fruitful in finding novel anti-tumour 95.
agents such as bryostating and

dolostatins ?

(A) Marine sources

(B)  Animals

(C) Venoms and toxins

(D) Combinatorial chemistry

The pollutant responsible fo
Joles is

(A) €O,
(€) €O
97.
98.
is done by
(B) Bacteria
(D)  Animals 99,
[ Wlste materials contaminate the
50 of drinking water, which of
ollowing diseases will spread ? 100
(A} Scurvy (B) Typhoid ’
(C) Malaria (D} Anaemia
'ind:ia eXpOoIts power to .
_{A) Bangladesh (B} Myanmar
(C) Pakistan (D) Bhutan

i6

- (A)

British Crown assumed sovercignty
over India from the East India

Company in the year ’
(A) - 1857 (B) 1858
{C)" 1859 (D) 1860

Which vein brings clean blood from
the lungs into the heart ?
(A) Renal Vein

(B) Pulmonary Vein .
(C) Vena Cava

(D) Hepatic Vein

The first woman President of

= ©
i E
0w
Qs

ia, woman had never been a  f= 0
ef Minister in the State of (o

(A} Tamil Nadu LT

(B) Rajasthan 0.

() Uttar Pradesh =

(D) Maharashtra Eﬁ- F

Which of the following is not a noble gas ? qg : Bz

{A) Hydrogen
(C) Neon
Sunda Trench is in

Indian Ocean
(B) . -Pacific Ocean

(B) Helium
(D) Argon

(C) Atlantic Ocean

(D) Gulf of Mexico .
Which of the following is an organic

rock 7

(A) Marble .(B) Coal

(C) Granile (D) Slate

Who among the following has
written the famous book “Malgudi
Days™ ?

(A} V.S. Naipaul

(B} Deepak Chopra

(C) Rabindranath Tagore _

(D} R.K. Narayan

GO0 NH 1



101,

102.

103.

104.

105.

106,

CC2014 -

-being the right ang

Part-C
QUANTITATIVE APTITUDE

Three numbers are in the ratio | : 2 - 3
and-their HCF is 12. The numbers are
(A) 12,24, 36 (B) 3,10,15
(C) 4,812 (D) 10,20, 30
If x [-2{-4 (-a)}] + 5 [-2 {2-a)}] =
4a, then x =

(A) -2 (B) =3

@ -4 (D) -5

A can complete a work in ‘m’ days

‘and B can complete it in ‘n’ days.

How many days will it take to
complete the work if both A and B
work together ? :

(A) (m+n)days (B) (i x ;I;) days

m
m-+n mn

(C), [_1-11?) days (D) V(m +]J day;:

Pipe A is an inlet pipe filling the tank
at 8000 //hr. Pipe B empties the tank
in 3-hours. The capacity of the tank is
(A) 12000/ (B) 8000/

(C) 6000/

(A) 4320000
(C) 43200

ARC is a right
BC and AC

(D) 40007 ™~

107, A sphere is cut into two hemispheres,
Qne of them is used as bowl. It takes
8 bowlfuls of this to fill a conical
vessel -of height 12 cm and dins
6 cm. The. radius of the sphere
centimetre) will be
(A)3 (B2

108. The perimeters of
~and an equilateral {
and their areas are
respectively. Which of the
statement is true ? .
(B)

S ST
< 2T

109.

(B) 104 %
(D) 12%
vas sold for T 6,300 after

two successive discounts of
% and 10%. Find the marked

A) %7300 B) 77,700
(C) T8.000 (D) ¥7250
11. To aftract more visitors, Zoo

authority announces 20% discount on
. every ticket which costs 25 p. For
. this reason, sale of ticket increases by
- 28%. Find the percentage of increase
~ in the number of visitors, g
T (A) 40% (B 50%
- (€) 60% (D) No change

112, Which of the following represents a
correct proportion ?
(A) 12:9=16:12
B) 13:1i=5:4
{C) 30:45=13;24
(DY 3n5=9:5
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113

(A) 25:28 (B) 25:36
(C) 28:25 D) 56:23%
114, In a_Mathematics examination the

4
(A) 68% (B) 68'.; %o
3
(C) 70% (D) 72 7% 22
116, Nisha bought a number of oranges at

117,

18,

L€

. A policeman starts to chase a thief,
When the thief poes [0 steps the
policeman moves § steps. 5 steps of:
the policeman is equal to 7 steps of
the thief. The ratio of the speeds of
the policeman and the thief is

numbers scored by 5 candidates are 5
successive odd integers. If their total

marks is 185, the highest score is
(A) 39 (B) 43 (C) 41 (D) 37

. In two successive years, 80 “and 60
students of a school appeared at the
final examination of which 60% and
80% passed respectively. The average
rate of students passed (in percent) is

2 for a rupee and an equal number at
3 for a rupee. To make a profit of
20% she should sell a dozen for

(A) 6
(© 10

119.

120.

2L

A boat. goes 24 fun upstream and 28
km downstream in 6 hours. It goes
30 km upstream and 21 km
downstream in 6 hours and 30
minutes. The speed of the boat in still
water is

(A) 8 km/hr (BY  9km/hr
(C) 12 km/lr (C) 10 km/r

The compound inferest o1
sum of money for 2 years
annum is ¥ 410, The
on the same sum at the s
for the same time is

(A) T 400 (B)
(C) 350 D) %405
nd“y = b
(b, 2)
(@) (a,-b)
(941 - 149)°
41 + 149 x 149)
" (B) ~2
100

1
Ifx+ F S, then 2 + & is
z o

If A’s salary is 50% more 0
B, then B’s salary is les / (A) 12008 (B) 12048
(C) 14062 Dy 12092
. 2
124 If55x 5% =5 2= 52 then the
value of a is
K4 BS5S ©6 Dy
rt walking 125 Ifx® —3x+1= 0, then the value of
a.m., when FLIE . S
: will be
(B) 830am. i
(D} 10.00 a.m. (A) 18 (B) 15 (C) 21 (D)30 )
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120, 2 = 4¥ = 8" and xyz = 288, then 133. If angle bisector of 2 triangle bisect

11 the opposite side, then what type of
valueof 5o +7-F5-is triangle is ? ~
= 413".1 et - 97 : (A) Rightangled (B) Scalene

(A) _:% B 5 (© :j_(;‘ (D) 56 (C), " Similar (D) Isosceles

- 134. If each angle of a triangle is less than
the sum of the other two, then
triangle is

I
127. Ifx +5=119 & x> I, then find the
s g X -,

1 ‘ (A) obtuse angled (B)
positive value of:r'*—‘—’3 : - - (€) acuteangled (D)
(A) 25 (B) 27 (C) 36 (Dy49 - 135. A, B, C are three
128. The valueof(3+2-\ﬁ)'3+(3—2\ﬁ s circumference of a circle a
(A) 198 (B) 180 (€) 108 (D) 189 — ‘
) & ] = AC= 5\[2cm artd ZBAC =W0°,
129. ‘O’ is the centre of the circle, AB is a find thé radiv ‘
chord of the circle, OM 1 AB. If (A) 10em Sichi
AB =20 ¢cm, OM = 2\fﬁ cm, then # {0y~ 7 (D) 15¢em
radius of the circle is .4 5
(A) 15cm (B) 12cm 136. = 30° cog” 45° +
(C) 10cm (D) 1lcm 5

130. [f the angles of a triangle ABC are in

the ratio 2 : 3 .1, then the angles ®) 323_4 ‘ _
LA ZB4C s / : ;

(B) Z£A=40°, /B =120°, ZC=20°
(C) ZA=20°, ZB = 60°4¥C"

' |
T [fcoszﬁ—sinze=§,whem059§‘

iy

SR

131 then the value of cos® 8 - sin 0 is

| 2 I
W3 @& @5 ®

Ned |

e ]/
138, 1fan 0= = and 0< 6 < >, then
132. of triangle _

7 2
» _cosec” 8 —sec" 9 |
nd 2x cm, then the value of

R T
cosec’ 8 + sec” 6

ol 3 5 6
B) acute-angled 2 4 2 o
ED)_ right-angled Wz B35 OF D7
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lue of —= Sifte oS — ot sece
139. The valuco \f sm6 cosy - oty secy +

E
5tan 4 .
is equal to
& 12 sin'i‘ B
. _ ;
®o B ©2 D3
' . 3
140. If sin 6 = 35 then the value of
tan @ + cos 6 . -
cot B+ cpseall = TIAM 0 ‘
29 3l
(A} %o B) %o
4 37
© %o D) o
141. Ifacos®+bsimO=pandasind-b
cos 8 = q, then the relation between
a,bp&qis
() 2-b=p’-¢

(B) a2 +b2:p2 {“.ql
(Cy a+b=p+tq
(D) a-b=p-g

142, From a point P on

143, 60 students were asked to choose
their  favourite  sport.  Their
distributicn is as follows :

Football - 15

* Cricket—12

Swimming - 12

Basketball — 11

Athletics - 10 .
The data s illustrated in a Pj
What angle should be
football ? y
(A)Y 15° (B) 60° (C)

144. If in a triangle ABC as dra
- figure, AB = AC and ZACD =
then ZA Al;S equal to.”

NS :
SN

% % Cool-sip
v & Pepup
e & Dew-drop

Z
Z
Z

1988 Toun 1991 19927 1993
* Yeary

145. In which year the sale of cool-sip is
minimum ?

(A) 1990 . =
(B) 1992
(Cy 1993

{D) None of the above
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146. In case of which soft drink was the
- average annual sale maximum during
the period 1988 — 1993 2
(A) Pep-up only
(B) Pep-up and Dew- drop
(€) Cool-sip only
(D) Cool-sip and Pep-up
147. What was the approximate percent
drop in the sale of Pep-up in 1990
" overitssalein 19897
(A) 5 (By 14
€ 12 (D) 20
148. What was the approximate percent

increase in sales of Cool-sip in 1990
over its sales in 1989 7

(A) 100 (B) 50 v

(€ 1M (D) 150

149. In which year sale of Dew-drop is
maximum 7
(A) 1088 (B) 1992
- (C) 1989 (D} 1993

150. In case of which soft drink was the
© average annual sale minimum dunng
" the period 1988-1993 7
. (A) Pep-up only
© (B} Cool-sip only
(Cy  Dew-drop only
(D) Dew-drop

at+at .
145. —3jisequal to

gt

\ l+a8 B 1=a®

(Il) A= (B) |+
1+ 4 : Y

C D

() T (D) e

146. A ta.pc recorder is sold for ¥
profit of 10%. What would ha

the actual loss if it had sol
78357

(A) T85 B) %6
(¢) T13 D) T50

147. I the side of
24 cm: the rad

bwgandc*—,then
a<b<c (B b<c<a
F a<c<b (D).c<b<a_

. The graph of 2x =6 ina straight line
which is '
(A) parallel to x axis

(B) parallel to y axis

(C) perpendicular at origin

(D) passing through origin -

150. The difference between the interests
received from two different banks en
¥ 500 for two years is ¥ 2. 50. The _
difference between their rates 15
A 1% (B)- 5%
(C) 25% (D) 25%-

CC-2014
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Part - D
ENGLISH COMPREH_ENS[ON

Directions : In Question Nos. 151 to 155,
some pats of the sentences have errors and -
some are correct. Find out which part of a

_ sentence has an error and blacken the oval
[@] corresponding to the .appropriate
letter (A, B, C). If a sentence is free from
error. blacken the gval corresponding to
(D) in the Answer Sheet.

The river | has averflown | its banks.

B ® | ©
No error
(D)
152, IIM Calcatta's MBA programme /
(GYIE :
is regarded as the finest in the
(B) ©
country / No error
(D)

153.

15

B)
t up my spine. - No error
{© ()

. Such rules , do not apply to ;

(A) (B)
you and L / No error
(€ (D)

CC-2044

28

Directions : In Question Nos. 156 to 160
sentencesare given with blanks to be filled in
with an appropriate word(s). Four alternatives
are suggested for each question. Choose
correct alternative out of the four and indicate
it by blackening the appropriate i
the Answer Sheet.

156, During.a period of pr
the sick can become in
both the strength to work
of the specific skills that we

possessed.
{A) regaini ying
., (C)  pursui losing

v

157. The religious sect

who had jw . o
<5
(B) litigant =5
: e
(D) suppliant O3
you mind the suitcase, E ?
]
: 5 <
(A) open (B) opening E &
(C) toopen (D} apened e
159. When she parted her parents, E%L
her eyes were full of tears. gL =

(A) from (B) away
(C) off (D) with
160. He went to ablige his superior.

(B) outofhis way
(D) with his way

(A) on his way
(C) inhis way

Directions : In Question Nos. 161 to 163 out
of the four alternatives, choose the one which
best expresses the meaning of the given word
and mark it in the Answer Sheet.

161. Impervious ;
(Bj

(A) Audacious Haphazard

(C) impenetrable (D) (llogical
162. Peruse .

(A} Overuse (B} Examine

(C)  Abuse (D) Defuse
163. Amicable

(A} Friendly (B) Happy

{C) Perfect - (D) Joyous

000 NH



178. The bank manager was given a
holiday and so heresolved to go for
hitch-hiking.

(A)  with hitch-hiking
(B) for the hitch-hiking
(C) hitch-hiking

(D) No improvement

179. Our big iron gale jingles on its hinges
- as it 18 opened. '

(A) clangs

(B) grates

(C) bangs o
(D) No improvemen

180. Although ather parts the world 20 per cent
of the fanm area is owned by women, in
India women own less than 7 per cent.
(A) [fin other parts of -

(B) However some parls of

(C) While in other parts of

(D) No improvement

181. 1had more sympathy with you, my fiiend.

(A) have more sympathy

(B) —have much sympathy

(C) had much sympathy

(D) No impmvenlgnt
Directions : In Question Nos. 182 to 188,
out of the four alternatives, choose the one
which cai be substituted for the given
words/sentences and  indicate_ it by
blackening the appropriate oval i
Answer Sheet. °
182. A special fondness o

(A) Propensity

-(C) Penchant

183.

C 184, ¢ can be

Sibilant
Letter

Reticent
(D}- -Obsolescent
drink usually made from a mixture
one or more aleoholic drinks

) Cocktail (B) Mocktail

C)- Liquor {D) - Bisque
187. Affectin% or relating to cows

(A Felme - (B} Bovine

(C) Ovine (D) Vulpine
188. Something that might happen in the

future o )

(A) Contingency (B) Insurance

(C) Bmergency (D) Prophecy

CC-2014
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190. (A) Accessible -

Directions ; In Question Nos.
_you have two brief passag
_questions following each passage.

Directions : In Question Nos. 189 and
190, four words are given in cach question;
out of which only one word is correctly
spelt. Find the correctly spelt word and
mark your answer in the Answer Sheet.

189. (A) Camouflage (B)
(C) Cemouflege (D)

(B)
Accesseble (D)

©

passages carefully and .choose th
answer to each questiompout of the
ckefiing the

force have not properly
ized because like breathing, it
part and parcel of human
The difference between 2
n and an intelligent man,
ding to the man who is convinced that
e is of the latter category, is that the
former wholeheartedly accepts all things
that he sees and hears while the latter never
admits anything except after a most
searching scrutiny. He imagines his
intelligence to be a sieve of closely woven
mesh through which nothing but the finest
can pass.

The critical sense is essential for
keeping social transactions in a warm stalc.
Otherwise life would become very dull and
goody-goody. The eritical faculty is
responsible for a lot of give and take in
life. It increases our awareness of our
surroundings; it sounds dignified no doubt,
but it seems also to mean that we can
waich someone else’s back better than our
own | We never know our own defects till
{hey are pointed out o us, and even then
we need not accept them. We always
question the bonafides of the man who tells
us unpleasant facts. On the surface it is all
very well to say, ‘T want an honest
criticism; that will help me, not blind

it.
000 NH 1
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191. The critical faculty is defined as the
‘most potent one in human make-up’
because )
(A)- “itis all pervasive and powerful.
(B) it separates the simpleton from

the intelligent man.

(C) itisa help in social transactions,

(D) All of the above

192. What, according to the writer, is the
essential link between breathing and
the critical faculty ?

(A) Both are required in social
relations

(B) Both are exercised by human
beings

(C)  Both grow with age

(D) Both stop with death

193. The self-defined intelligent man
defines himself on the basis of
* (A) his obvious divergence from
the simpleton. 2
(B) his superior intelligence as a
whole.
(C) his possession of the critical
faculty;
(D) his heightened awareness of his
surroundings.

194. The negative side
faculty is that
(A) it makes usecn
(B) it mak iti

others” opinions
lves) generally want

ssage — [T (. Nos. 196 - 200)
1ational trade represents a significant
share of Gross Domestic Product (GDP).
While international trade has been present
threughout much of history, its econemic.
social and political importance has been on
the rise in recent centuries.

GOONH 1

* and the behaviour of parties i

Industrialization, advances in
technology, transportation, globalization,
" multinational corporations, and-

outsourcing are all having a major impact
on the international trade system.
Increasing international trade is crucial to
the  continuance  of  globalization.
International trade is, in principle,
different from domestic as the motivatio

trade do not change
regardless of whether tr

international trade is typically
than domestic trade. Another

uchf capital
more mobile
untries.

owing has a

ing to the author, increasing
rnational trade
A) brings about speedy
industrialization.
(B) uplifis  technology and

transportation.

{C) is crucial to the continuance of
globalization.

(D) encourages multinational
corporations.

198. What is the main difference between
international and domestic trade ?
{A) One is more significant than
the other
(B) One is more costly than the

other

(C)  Onc is more advanced than the -
other '

(D} One is more crucial than the
other

199, Which of the following is one of the
factors of production ?
(A} Capital (B) Cost
(C)  Profit (D) Loss

200. What is the synonym of ‘mabile’ ?

(A) Versatile (B} Moveable
(C)  Changeable (D) Transferable )

CC-2014
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